LOWER DECAY ESTIMATES FOR NON-DEGENERATE DISSIPATIVE WAVE EQUATIONS OF KIRCHHOFF TYPE

Kosuke Ono

Received October 15, 2013

ABSTRACT. Consider the initial-boundary value problem for non-degenerate dissipative wave equations of Kirchhoff type. Using the energy method, we see that the energies have exponential decay rates. Also, we show that the decay rates from below of the solutions are exponentially.

1 Introduction In this paper, we study on the asymptotic behavior of solutions to the initial boundary value problem for the following non-degenerate dissipative wave equations of Kirchhoff type :

(1.1)
$$\begin{cases} \rho u'' + (1 + ||A^{1/2}u(t)||^{2\gamma}) Au + u' = 0 \quad \text{in} \quad \Omega \times (0, \infty) \\ u(x, 0) = u_0(x) \quad \text{and} \quad u'(x, 0) = u_1(x) \quad \text{in} \quad \Omega \\ u(x, t) = 0 \quad \text{on} \quad \partial\Omega \times (0, \infty) , \end{cases}$$

where u = u(x,t) is an unknown real value function, Ω is a bounded domain in \mathbb{R}^N with smooth boundary $\partial\Omega$, $' = \partial/\partial t$, $A = -\Delta = -\sum_{j=1}^N \partial^2/\partial x_j^2$ is the Laplace operator with the domain $\mathcal{D}(A) = H^2(\Omega) \cap H_0^1(\Omega)$, $\|\cdot\|$ is the usual norm of $L^2 = L^2(\Omega)$, and $0 < \rho \leq 1$ and $\gamma > 0$ are constants.

In the case of N = 1, Equation (1.1) describes a small amplitude vibration of an elastic string (see Kichhoff [7] for the original equation ; also see [4], [5], [10]).

Many authors have shown the local in time solvability for initial data in suitable Sobolev spaces (see [1], [2], [6], [18], [19]).

By help of dissipation we can show the global in time solvability for initial data in certain Sobolev spaces (see [3], [17] for small data and $\gamma \geq 1$), and we can derive some exponential decay estimates for energies.

In previous paper [13], when $\gamma \geq 1$, we have derive some exponential decay estimates, that is,

$$\|Au(t)\|^2 + \|A^{1/2}u'(t)\|^2 + \|u''(t)\|^2 \le Ce^{-\theta t}$$

with some constant $\theta > 0$ under the small data condition (see Theorem 5.1).

Ghisi and Gobbino [9] have given some decay estimates of the solutions of (1.1):

$$C'e^{-\theta_2 t} \le \|A^{1/2}u(t)\|^2 \le Ce^{-\theta_1 t},$$

$$C'e^{-\theta_2 t} \le \|Au(t)\|^2 \le Ce^{-\theta_1 t},$$

$$\|u'(t)\|^2 \le Ce^{-\theta t} \text{ for } t \ge 0.$$

2010 Mathematics Subject Classification. Primary 35L20; Secondary 35B40.

Key words and phrases. Kirchhoff strings, dissipative wave equations, decay rates.

under the smallness condition for the coefficient $\rho > 0$. However, from their results we can not know the lower decay estimate of the norm $||u(t)||^2$ (cf. [8], [9], [11], [14] and the references cited therein for mildly degenerate cases).

The purpose of this paper is to give the condition for the global solvability of (1.1) for any $\gamma > 0$ (see Theorem 3.1), and to derive a lower decay estimate of the L^2 norm of the solution u(t) (see Theorem 4.6).

The notations we use in this paper are standard. The symbol (\cdot, \cdot) means the inner product in $L^2 = L^2(\Omega)$ or sometimes duality between the space X and its dual X'. Positive constants will be denoted by C and will change from line to line.

2 A-priori Estimate By applying the Banach contraction mapping theorem, we obtain the following local existence theorem. The proof is standard and we omit it here (see [1], [2], [15], [16]).

Proposition 2.1 If the initial data $[u_0, u_1]$ belong to $\mathcal{D}(A) \times \mathcal{D}(A^{1/2})$, then the problem (1.1) admits a unique local solution u(t) in the lass $C^0([0,T); \mathcal{D}(A)) \cap C^1([0,T); \mathcal{D}(A^{1/2})) \cap C^0([0,T); L^2(\Omega))$ for some $T = T(||Au_0||, ||A^{1/2}u_1||) > 0$. Moreover, $||Au(t)|| + ||A^{1/2}u(t)|| < \infty$ for $t \ge 0$, then we can take $T = \infty$.

In what follows in this section, let u(t) be a solution of (1.1) and we assume that

(2.1)
$$\rho \frac{|M'(t)|}{M(t)} \le \frac{1}{\gamma+1}$$

By fundamental calculation, we have the energy identity

(2.2)
$$\frac{d}{dt}E(t) + 2\|u'(t)\|^2 = 0 \quad \text{or} \quad E(t) + 2\int_0^t \|u'(s)\|^2 \, ds = E(0) \,,$$

where E(t) is defined by

(2.3)
$$E(t) \equiv \rho \|u'(t)\|^2 + \left(1 + \frac{1}{\gamma+1}M(t)^{\gamma}\right)M(t) \quad \text{with} \quad M(t) \equiv \|A^{1/2}u(t)\|^2.$$

Proposition 2.2 Under the assumption (2.1), it holds that

(2.4)
$$\frac{\|Au(t)\|^2}{M(t)} \le G(t) \le G(0)$$

where

(2.5)
$$G(t) \equiv \frac{\|Au(t)\|^2}{M(t)} + \rho Q(t) \,,$$

(2.6)
$$Q(t) \equiv \frac{1}{(1+M(t)^{\gamma})M(t)^2} \left(\|A^{1/2}u'(t)\|^2 M(t) - \frac{1}{4}|M'(t)|^2 \right) \,.$$

Proof. From Equation (1.1) we observe

$$\begin{aligned} \frac{d}{dt} \frac{\|Au(t)\|^2}{M(t)} \\ &= \frac{1}{(1+M(t)^{\gamma})M(t)^2} \left(2\left((1+M(t)^{\gamma})Au, Au'\right) M(t) - \left((1+M(t)^{\gamma})Au, Au\right) M'(t)\right) \\ &= \frac{-1}{(1+M(t)^{\gamma})M(t)^2} \left(2\left(\|A^{1/2}u'(t)\|^2 + \rho(A^{1/2}u'', A^{1/2}u')\right) M(t) \\ &- \left(\frac{1}{2}|M'(t)|^2 + \rho\left(\|A^{1/2}u'(t)\|^2 - \frac{1}{2}M''(t)\right) M'(t)\right) \right) \end{aligned}$$

$$(2.7)$$

$$= -2Q(t) + \rho R(t)$$

where

$$R(t) \equiv \frac{1}{(1+M(t)^{\gamma})M(t)^2} \left(2(A^{1/2}u'', A^{1/2}u')M(t) + \left(\|A^{1/2}u'(t)\|^2 - \frac{1}{2}M''(t) \right)M'(t) \right) .$$

On the other hand, by simple calculation we have

(2.8)
$$\frac{d}{dt}Q(t) = -\frac{M'(t)}{M(t)}\frac{2 + (\gamma + 2)M(t)^{\gamma}}{1 + M(t)^{\gamma}}Q(t) - R(t).$$

Thus, from (2.7) and (2.8) we obtain

$$\frac{d}{dt} \left(\frac{\|Au(t)\|^2}{M(t)} + \rho Q(t) \right) + 2 \left(1 + \frac{\rho}{2} \frac{M'(t)}{M(t)} \frac{2 + (\gamma + 2)M(t)^{\gamma}}{1 + M(t)^{\gamma}} \right) Q(t) = 0.$$

Since it follows from (2.1) and (2.5) that

$$1 + \frac{\rho}{2} \frac{M'(t)}{M(t)} \frac{2 + (\gamma + 2)M(t)^{\gamma}}{1 + M(t)^{\gamma}} \ge 0 \quad \text{and} \quad Q(t) \ge 0 \,,$$

we conclude the desired estimate (2.5). \Box

Proposition 2.3 Under the assumption (2.1), it holds that

(2.9)
$$\frac{\|u'(t)\|^2}{M(t)} \le B(0)$$

where

(2.10)
$$B(0) = \max\left\{\frac{\|u_1\|^2}{M(0)}, \frac{\gamma+1}{\gamma}G(0)(1+E(0)^{\gamma})^2\right\}.$$

Proof. Multiplying (1.1) by $2M(t)^{-1}u'$ and integrating it over Ω , we have

$$\rho \frac{d}{dt} \frac{\|u'(t)\|^2}{M(t)} + 2\left(1 + \frac{\rho}{2} \frac{M'(t)}{M(t)}\right) \frac{\|u'(t)\|^2}{M(t)} = -\frac{1 + M(t)^{\gamma}}{M(t)} M'(t)$$
$$\leq 2\frac{\|u'(t)\|}{M(t)^{\frac{1}{2}}} \frac{\|Au(t)\|}{M(t)^{\frac{1}{2}}} (1 + M(t)^{\gamma}).$$

Since it follows from (2.1) that

(2.11)
$$1 + \frac{\rho}{2} \frac{M'(t)}{M(t)} \ge \frac{2\gamma + 1}{2(\gamma + 1)},$$

the Young inequality yields

$$\rho \frac{d}{dt} \frac{\|u'(t)\|^2}{M(t)} + \frac{\gamma}{\gamma+1} \frac{\|u'(t)\|^2}{M(t)} \le \frac{\|Au(t)\|^2}{M(t)} (1 + M(t)^{\gamma})^2 \le G(0)(1 + E(0)^{\gamma})^2$$

where we used the estimates (2.2) and (2.4) at the last inequality. Thus, by standard calculation for ODE, we obtain the desired estimate (2.9). \Box

3 Global Solvability for $\gamma > 0$

Theorem 3.1 Let the initial data $[u_0, u_1]$ belong to $\mathcal{D}(A) \times \mathcal{D}(A^{1/2})$. Suppose that the coefficient $\rho > 0$ and the initial data $[u_0, u_1]$ satisfy

(3.1)
$$2\rho B(0)^{\frac{1}{2}}G(0)^{\frac{1}{2}} < \frac{1}{\gamma+1}$$

where G(0) and B(0) are given by (2.5) and (2.10), respectively. Then, the problem (1.1) admits a unique global solution u(t) in the class $C^0([0,\infty); \mathcal{D}(A)) \cap C^1([0,\infty); \mathcal{D}(A^{1/2})) \cap C^0([0,\infty); L^2(\Omega))$, and moreover, the solution u(t) satisfies

(3.2)
$$\rho \frac{|M'(t)|}{M(t)} < \frac{1}{\gamma + 1} \quad and \quad M(t) \le E(t) \le E(0) \,,$$

(3.3)
$$\frac{\|Au(t)\|^2}{M(t)} \le G(0) \quad and \quad \frac{\|u'(t)\|^2}{M(t)} \le B(0)$$

for $t \geq 0$.

Proof. Let u(t) be a solution of (1.1) on [0, T]. Since it follows from (2.5), (2.10), and (3.1) that

$$\rho \frac{|M'(0)|}{M(0)} \le 2\rho \frac{\|u_1\|}{M(0)^{\frac{1}{2}}} \frac{\|Au_0\|}{M(0)^{\frac{1}{2}}} \le 2\rho B(0)^{\frac{1}{2}} G(0)^{\frac{1}{2}} < \frac{1}{\gamma+1} \,,$$

putting

$$T_1 \equiv \sup \left\{ t \in [0, \infty) \mid \rho \frac{|M'(s)|}{M(s)} < \frac{1}{\gamma + 1} \text{ for } 0 \le s < t \right\},\$$

we see that $T_1 > 0$. If $T_1 < T$, then

(3.4)
$$\rho \frac{|M'(t)|}{M(t)} < \frac{1}{\gamma+1} \quad \text{for} \quad 0 \le t < T_1 \quad \text{and} \quad \rho \frac{|M'(T_1)|}{M(T_1)} = \frac{1}{\gamma+1}.$$

On the other hand, from Proposition 2.2 and Proposition 2.3, we observe

(3.5)
$$\rho \frac{|M'(t)|}{M(t)} \le 2\rho \frac{\|u'(t)\|}{M(t)^{\frac{1}{2}}} \frac{\|Au(t)\|}{M(t)^{\frac{1}{2}}} \le 2\rho B(0)^{\frac{1}{2}} G(0)^{\frac{1}{2}} < \frac{1}{\gamma+1} \quad \text{for} \quad 0 \le t \le T_1$$

which is a contradiction to (3.4), and hence, we have that $T_1 \ge T$.

Moreover, for $0 \le t \le T$, multiplying (1.1) by $2(1 + M(t)^{\gamma})^{-1}Au'$ and integrating it over Ω , we have

$$\frac{d}{dt}\left(\rho\frac{\|A^{1/2}u'(t)\|^2}{1+M(t)^{\gamma}} + \|Au(t)\|^2\right) + 2\left(1 + \frac{\gamma}{2}\rho\frac{M(t)^{\gamma}}{1+M(t)^{\gamma}}\frac{M'(t)}{M(t)}\right)\frac{\|A^{1/2}u'(t)\|^2}{1+M(t)^{\gamma}} = 0.$$

Since it follows from (3.5) that

$$1 + \frac{\gamma}{2}\rho \frac{M(t)^{\gamma}}{1 + M(t)^{\gamma}} \frac{M'(t)}{M(t)} \ge 1 - \frac{\gamma}{2}\rho \frac{|M'(t)|}{M(t)} \ge \frac{\gamma + 2}{2(\gamma + 1)}$$

we observe

$$\frac{d}{dt} \left(\rho \frac{\|A^{1/2} u'(t)\|^2}{1+M(t)^\gamma} + \|Au(t)\|^2 \right) \leq 0 \,,$$

and hence, we see that $||Au(t)|| + ||A^{1/2}u'(t)|| \le C$ for $0 \le t \le T$. Therefore, by the second statement of Proposition 2.1, we conclude that the problem (1.1) admits a unique global solution. Moreover, from Proposition 2.2 and Proposition 2.3, we obtain the desired estimate (3.3). \Box

4 Decay

Proposition 4.1 Under the assumption of Theorem 3.1, it holds that,

(4.1)
$$M(t) \le E(t) \le \frac{2\alpha}{\rho} E(0) e^{-k_1 t}$$

with

(4.2)
$$\alpha = \max\left\{\frac{3}{2}\rho, \rho + c_*^2\right\} \quad and \quad k_1 = \alpha^{-1} = \min\left\{\frac{2}{3\rho}, \frac{1}{\rho + c_*^2}\right\},$$

where c_* is the Sobolev-Poincaré constant such that $\|\phi\| \leq c_* \|A^{1/2}\phi\|$.

Proof. We define $E_1(t)$ by

$$E_1(t) \equiv E(t) + \frac{1}{2\rho} ||u(t)||^2 + (u'(t), u(t))$$

with E(t) given by (2.3). Since $|(u', u)| \leq (\rho/2) ||u'||^2 + (1/2\rho) ||u||^2$, we observe from the Sobolev-Poincaré inequality that

(4.3)
$$\frac{1}{2}E(t) \le E_1(t) \le \frac{\alpha}{\rho}E(t) \quad \text{with} \quad \alpha = \max\left\{\frac{3}{2}\rho, \, \rho + c_*^2\right\}.$$

Multiplying (1.1) by $2u' + \rho^{-1}u$ and integrating it over Ω , we have

$$\frac{d}{dt}E_1(t) + \|u'(t)\|^2 + \frac{1}{\rho}(1 + M(t)^{\gamma})M(t) = 0,$$

and moreover, it follows from (4.3) that

$$\frac{d}{dt}E_1(t) + k_1E_1(t) \le 0$$
 with $k_1 = \alpha^{-1}$.

Thus, we obtain that $E_1(t) \leq E_1(0)e^{-k_1t}$, and hence, from (4.3) we arrive at the desired estimate. \Box

Proposition 4.2 Under the assumption of Theorem 3.1, it holds that

(4.4)
$$H(t) \equiv \rho \frac{\|A^{1/2}u'(t)\|^2}{M(t)} + \frac{1 + M(t)^{\gamma}}{M(t)} \|Au(t)\|^2 \le \frac{m_1}{\rho^2}$$

with $m_1 = 2\alpha \max\{\rho H(0), \gamma^{-1}(\rho(\gamma+1)E(0)^{\gamma}G(0)+1)\}.$

Proof. We define $H_1(t)$ by

$$H_1(t) \equiv H(t) + \frac{1}{2\rho} + \frac{(A^{1/2}u'(t), A^{1/2}u(t))}{M(t)}$$

Since $|(A^{1/2}u', A^{1/2}u)| \le (\rho/2) ||A^{1/2}u'||^2 + (1/2\rho) ||A^{1/2}u||^2$, we observe from the Sobolev-Poincaré inequality that

(4.5)
$$\frac{1}{2}H(t) \le H_1(t) \le \frac{\alpha}{\rho}H(t) \quad \text{with} \quad \alpha = \max\left\{\frac{3}{2}\rho, \ \rho + c_*^2\right\}.$$

Multiplying (1.1) by $M(t)^{-1}(2Au' + \rho^{-1}Au)$ and integrating it over Ω , we have

$$\frac{d}{dt}H_1(t) + \left(1 + \rho \frac{M'(t)}{M(t)}\right) \frac{\|A^{1/2}u'(t)\|^2}{M(t)} + \frac{1}{\rho} \frac{1 + M(t)^{\gamma}}{M(t)} \|Au(t)\|^2$$
$$= -\left(1 - (\gamma - 1)M(t)^{\gamma}\right) \frac{M'(t)}{M(t)} \frac{\|Au(t)\|^2}{M(t)} - \frac{1}{2\rho} \frac{M'(t)}{M(t)} - \frac{1}{2} \frac{|M'(t)|^2}{M(t)^2}$$

Since it follows from (3.2) that

(4.6)
$$1 + \rho \frac{M'(t)}{M(t)} \ge \frac{\gamma}{\gamma+1},$$

we have from (3.2) and (3.3) that

$$\frac{d}{dt}H_{1}(t) + \frac{\gamma}{\gamma+1} \frac{\|A^{1/2}u'(t)\|^{2}}{M(t)} + \frac{1}{\rho} \frac{1+M(t)^{\gamma}}{M(t)} \|Au(t)\|^{2} \\
\leq \frac{|M'(t)|}{M(t)} \left((\gamma+1)M(t)^{\gamma} \frac{\|Au(t)\|^{2}}{M(t)} + \frac{1}{2\rho} + \frac{1}{2} \frac{|M'(t)|}{M(t)} \right) \\
\leq \frac{1}{\rho(\gamma+1)} \left((\gamma+1)E(0)^{\gamma}G(0) + \frac{1}{\rho} \right),$$

and moreover, we observe from (4.5) that

$$\frac{d}{dt}H_1(t) + \frac{\gamma}{(\gamma+1)\alpha}H_1(t) \le \frac{\gamma}{\rho^2(\gamma+1)}I(0)$$

with $I(0) \equiv \gamma^{-1} \left(\rho(\gamma + 1) E(0)^{\gamma} G(0) + 1 \right)$. Thus, we obtain

$$H_1(t) \le \max\left\{H_1(0), \frac{\alpha}{\rho^2}I(0)\right\}$$

and from (4.5) we conclude the desired estimate (4.4). \Box

Proposition 4.3 Under the assumption of Theorem 3.1, it holds that

(4.7)
$$P(t) \equiv \rho \frac{\|u''(t)\|^2}{M(t)} + \frac{1 + M(t)^{\gamma}}{M(t)} \|A^{1/2}u'(t)\|^2 + \frac{\gamma}{2}M(t)^{\gamma} \frac{|M'(t)|^2}{M(t)^2} \le \frac{m_2}{\rho^3}$$

with $m_2 = 2\alpha \max\{\rho^2 P(0), \gamma^{-1}(6(\gamma+1)^2 E(0)^{\alpha} m_1 + \rho(\gamma+1)\gamma^{-1} B(0))\}.$

Proof. We define $P_1(t)$ by

$$P_1(t) \equiv P(t) + \frac{1}{2\rho} \frac{\|u'(t)\|^2}{M(t)} + \frac{(u''(t), u'(t))}{M(t)}$$

Since $|(u'', u')| \leq (\rho/2) ||u''||^2 + (1/2\rho) ||u'||^2$, we observe from the Sobolev-Poincaré inequality

(4.8)
$$\frac{1}{2}P(t) \le P_1(t) \le \frac{\alpha}{\rho}P(t) \quad \text{with} \quad \alpha = \max\left\{\frac{3}{2}\rho, \, \rho + c_*^2\right\}$$

Multiplying (1.1) differentiated with respect to t by $M(t)^{-1}(2u'' + \rho^{-1}u')$ and integrating it over Ω , we have

$$\begin{split} \frac{d}{dt}P_{1}(t) &+ \left(1 + \rho \frac{M'(t)}{M(t)}\right) \frac{\|u''(t)\|^{2}}{M(t)} + \frac{1}{\rho} \frac{1 + M(t)^{\gamma}}{M(t)} \|A^{1/2}u'(t)\|^{2} + \frac{\gamma}{2\rho} M(t)^{\gamma} \frac{|M'(t)|^{2}}{M(t)^{2}} \\ &= -(1 - (3\gamma - 1)M(t)^{\gamma}) \frac{M'(t)}{M(t)} \frac{\|A^{1/2}u'(t)\|^{2}}{M(t)} + \frac{\gamma(\gamma - 2)}{2} M(t)^{\gamma} \frac{(M'(t))^{3}}{M(t)^{3}} \\ &- \frac{1}{2\rho} \frac{M'(t)}{M(t)} \frac{\|u'(t)\|^{2}}{M(t)} - \frac{M'(t)}{M(t)} \frac{(u''(t), u'(t))}{M(t)} \,. \end{split}$$

From the Young inequality and (4.6) (or (3.2)) we observe

$$\begin{split} \frac{d}{dt} P_1(t) &+ \frac{\gamma}{2(\gamma+1)} \frac{\|u''(t)\|^2}{M(t)} + \frac{1}{\rho} \frac{1+M(t)^{\gamma}}{M(t)} \|A^{1/2}u'(t)\|^2 + \frac{\gamma}{2\rho} M(t)^{\gamma} \frac{|M'(t)|^2}{M(t)^2} \\ &\leq 3(\gamma+1)^2 M(t)^{\gamma} \frac{|M'(t)|}{M(t)} \frac{\|A^{1/2}u'(t)\|^2}{M(t)} \\ &+ \frac{1}{2\rho} \frac{|M'(t)|}{M(t)} \frac{\|u'(t)\|^2}{M(t)} + \frac{\gamma+1}{2\gamma} \frac{|M'(t)|^2}{M(t)^2} \frac{\|u'(t)\|^2}{M(t)} \\ &\leq \frac{1}{\rho(\gamma+1)} \left(3(\gamma+1)^2 E(0)^{\gamma} \frac{m_1}{\rho^2} + \frac{\gamma+1}{2\rho\gamma} B(0)\right) \end{split}$$

where we used the estimates (3.2) and (3.3), and moreover, we have from (4.8) that

$$\frac{d}{dt}P_1(t) + \frac{\gamma}{2(\gamma+1)\alpha}P_1(t) \le \frac{\gamma}{2\rho^3(\gamma+1)}J(0)$$

with $J(0) \equiv \gamma^{-1}(6(\gamma+1)^2 E(0)^{\gamma} m_1 + \rho(\gamma+1)\gamma^{-1}B(0))$. Thus, we obtain

$$P_1(t) \le \max\left\{P_1(0), \frac{\alpha}{\rho^3}J(0)\right\}$$

and from (4.8) we conclude the desired estimate (4.7). \Box

Proposition 4.4 Under the assumption of Theorem 3.1, it holds that if $u_0 \neq 0$, (4.9) $M(t) \geq C'e^{-k_2 t}$ with $k_2 = \rho^{-1} \max\{2, \gamma - 2\}(1 + E(0)^{\gamma})^{\frac{1}{2}}G(0)^{\frac{1}{2}}$,

where C' is some positive constant.

Proof. Multiplying by $2M(t)^{-2}u'$ and integrating it over Ω , we have

$$\frac{d}{dt} \left(\rho \frac{\|u'(t)\|^2}{M(t)^2} + \frac{1 + M(t)^{\gamma}}{M(t)} \right) + 2 \left(1 + \rho \frac{M'(t)}{M(t)} \right) \frac{\|u'(t)\|^2}{M(t)^2} = -\frac{2 - (\gamma - 2)M(t)^{\gamma}}{M(t)^2} M'(t) \,,$$

and from (3.2), (3.3), and the Young inequality we observe

$$\begin{split} &\frac{d}{dt} \left(\rho \frac{\|u'(t)\|^2}{M(t)^2} + \frac{1 + M(t)^{\gamma}}{M(t)} \right) \\ &\leq 2 \max\{2, \gamma - 2\} (1 + M(t)^{\gamma})^{\frac{1}{2}} \frac{\|Au(t)\|}{M(t)^{\frac{1}{2}}} \left(\frac{1 + M(t)^{\gamma}}{M(t)} \right)^{\frac{1}{2}} \frac{\|u'(t)\|}{M(t)} \\ &\leq \rho^{-1} \max\{2, \gamma - 2\} (1 + E(0)^{\gamma})^{\frac{1}{2}} G(0)^{\frac{1}{2}} \left(\frac{1 + M(t)^{\gamma}}{M(t)} + \rho \frac{\|u'(t)\|^2}{M(t)^2} \right) \,. \end{split}$$

Thus, we obtain

$$\rho \frac{\|u'(t)\|^2}{M(t)^2} + \frac{1 + M(t)^{\gamma}}{M(t)} \le Ce^{k_2 t} \quad \text{with} \quad k_2 = \rho^{-1} \max\{2, \gamma - 2\}(1 + E(0)^{\gamma})^{\frac{1}{2}}G(0)^{\frac{1}{2}}$$

which gives the desired estimate (4.9). \Box

Proposition 4.5 Under the assumption of Theorem 3.1, it holds that if $u_0 \neq 0$,

(4.10)
$$||u(t)||^2 \ge C' e^{-k_3 t}$$
 with $k_3 = k_2 + m_2/\rho^2$,

where C' is some positive constant.

Proof. From Equation (1.1), we observe

$$\begin{aligned} \frac{d}{dt} \frac{M(t)}{\|u(t)\|^2} &= \frac{-2\rho}{\|u(t)\|^2} \left(Au(t) - \frac{M(t)}{\|u(t)\|^2} u(t), u''(t) \right) \\ &- \frac{2(1+M(t)^{\gamma})}{\|u(t)\|^2} \left(Au(t) - \frac{M(t)}{\|u(t)\|^2} u(t), Au(t) \right) \end{aligned}$$

 \mathbf{or}

$$\begin{split} & \frac{d}{dt} \frac{M(t)}{\|u(t)\|^2} + \frac{2(1+M(t)^{\gamma})}{\|u(t)\|^2} \|Au(t) - \frac{M(t)}{\|u(t)\|^2} u(t)\|^2 \\ & = \frac{-2\rho}{\|u(t)\|^2} \left(Au(t) - \frac{M(t)}{\|u(t)\|^2} u(t), u''(t)\right) \\ & \leq 2\rho \frac{1}{\|u(t)\|} \|Au(t) - \frac{M(t)}{\|u(t)\|^2} u(t)\| \frac{\|u''(t)\|}{\|u(t)\|} \,. \end{split}$$

The Young inequality yields

$$\frac{d}{dt}\frac{M(t)}{\|u(t)\|^2} \le \rho^2 \frac{\|u''(t)\|^2}{\|u(t)\|^2} = \rho^2 \frac{\|u''(t)\|^2}{M(t)} \frac{M(t)}{\|u(t)\|^2} \le \frac{m_2}{\rho^2} \frac{M(t)}{\|u(t)\|^2}$$

where we used the estimate (4.7). Thus, we have

$$\frac{M(t)}{\|u(t)\|^2} \le C e^{\frac{m_2}{\rho^2}t},$$

and hence, from (4.9) we obtain the desired estimate (4.10). \Box

From Propositions 4.1–4.5, we arrive at the following theorem.

Theorem 4.6 Under the assumption of Theorem 3.1, the solution u(t) of (1.1) satisfies that if $u_0 \neq 0$,

(4.11)
$$C'e^{-k_3t} \le ||u(t)||^2 \le Ce^{-k_1t},$$

(4.12)
$$C'e^{-k_2t} \le ||A^{1/2}u(t)||^2 \le Ce^{-k_1t}$$

(4.13)
$$C'e^{-k_2t} \le ||Au(t)||^2 \le Ce^{-k_1t}$$

(4.14) $\|A^{1/2}u'(t)\|^2 + \|u''(t)\|^2 \le Ce^{-k_1 t} \quad for \quad t \ge 0$

with constants k_1 , k_2 , k_3 given by (4.1), (4.9), (4.10), where C and C' are some positive constants.

Proof. (4.12) follows from (4.1) and (4.9). (4.11) follows from (4.12) and (4.10). (4.13) follows from (4.12) and (3.3). (4.14) follows from (4.12) and (4.7). \Box

5 Appendix : Global Sovability for $\gamma \geq 1$ When $\gamma \geq 1$, if the initial energy E(0) is small, then there exists a unique global solution and the solution decays exponentially. We intoroduce the function F(t) as

(5.1)
$$F(t) \equiv \rho \|A^{1/2}u'(t)\|^2 + (1 + M(t)^{\gamma})\|Au(t)\|^2$$

Theorem 5.1 Let the initial data $[u_0, u_1]$ belong to $\mathcal{D}(A) \times \mathcal{D}(A^{1/2})$. Suppose that the initial energy E(0) is small such that

(5.2)
$$2^5 \gamma^2 \alpha E(0)^{2\gamma - 1} F(0) < 1$$

with $\alpha = \max\{3\rho/2, \rho + c_*\}$. Then, the problem (1.1) admits a unique global solution u(t)in the class $C^0([0,\infty); \mathcal{D}(A)) \cap C^1([0,\infty); \mathcal{D}(A^{1/2})) \cap C^0([0,\infty); L^2(\Omega))$, and moreover, the solution u(t) satisfies

(5.3)
$$\|Au(t)\|^2 + \|A^{1/2}u'(t)\|^2 + \|u''(t)\|^2 \le Ce^{-\theta t} \quad for \quad t \ge 0$$

with $\theta = (4\rho)^{-1}$, where C is some positive constant.

Proof. Let u(t) be a solution of (1.1) on [0, T]. We define $F_1(t)$ by

$$F_1(t) \equiv F(t) + \frac{1}{2\rho} \|A^{1/2}u(t)\|^2 + (A^{1/2}u'(t), A^{1/2}u(t)),$$

Since $|(A^{1/2}u', A^{1/2}u)| \le (\rho/2) ||A^{1/2}u'||^2 + (1/2\rho) ||A^{1/2}u||^2$, we observe from the Sobolev-Poincaré inequality that

(5.4)
$$\frac{1}{2}F(t) \le F_1(t) \le \frac{\alpha}{\rho}F(t) \quad \text{with} \quad \alpha = \max\left\{\frac{3}{2}\rho, \, \rho + c_*^2\right\}.$$

Multiplying (1.1) by $2Au' + \rho^{-1}Au$ and integrating it over Ω , we have

(5.5)
$$\frac{d}{dt}F_1(t) + \|A^{1/2}u'(t)\|^2 + \frac{1}{\rho}(1 + M(t)^{\gamma})\|Au(t)\|^2 = \gamma M'(t)M(t)^{\gamma-1}\|Au(t)\|^2.$$

We observe from (2.2) and (5.1) that

(5.6)
$$\gamma M'(t)M(t)^{\gamma-1} \le 2\gamma M(t)^{\gamma-1} ||Au(t)|| \le 2\gamma \rho^{-\frac{1}{2}} E(0)^{\gamma-\frac{1}{2}} F(t)^{\frac{1}{2}}.$$

Since $2^4 \gamma^2 \rho E(0)^{2\gamma-1} F(0) < 1$ (by (5.2)), putting

$$T_1 \equiv \sup \left\{ t \in [0,\infty) \mid \mu(s) \equiv 2^4 \gamma^2 \rho E(0)^{2\gamma - 1} F(s) < 1 \text{ for } 0 \le s < t \right\} \,,$$

we see that $T_1 > 0$. If $T_1 < T$, then

(5.7)
$$\mu(t) < 1 \text{ for } 0 \le t < T_1 \text{ and } \mu(T_1) = 1$$

or

(5.8)
$$\gamma M'(t) M(t)^{\gamma - 1} \|Au(t)\|^2 \le \frac{1}{2\rho} \|Au(t)\|^2.$$

Thus, for $0 \le t \le T_1$, it follows from (5.4), (5.5), and (5.8) that

$$\frac{d}{dt}F_1(t) + \theta F_1(t) \le 0 \quad \text{with} \quad \theta = (4\rho)^{-1},$$

and hence,

(5.9)
$$F_1(t) \le F_1(0)e^{-\theta t} \quad \text{or} \quad F(t) \le \frac{2\alpha}{\rho}F(0)e^{-\theta t}$$

Then, we observe

(5.10)
$$||u''(t)|| \le ||\rho^{-1}(1+M(t)^{\gamma})Au(t)+\rho^{-1}u'(t)||^2 \le CF(t) \le Ce^{-\theta t}$$

and

$$\mu(t) \equiv 2^4 \gamma^2 \rho E(0)^{2\gamma - 1} F(t) \le 2^5 \gamma^2 \alpha E(0)^{2\gamma - 1} F(0) < 1 \quad \text{for} \quad 0 \le t \le T_1$$

which is a contradiction to (5.7), and hence, we have that $T_1 \ge T$ and $||Au(t)|| + ||A^{1/2}u'(t)|| \le C$ for $0 \le t \le T$. Therefore, by the second statement of Proposition 2.1, we conclude that the problem (1.1) admits a unique global solution. Moreover, from (5.9) and (5.10) we obtain the desired estimate (5.3). \Box

Acknowledgment. This work was in part supported by Grant-in-Aid for Science Research (C) 21540186 of JSPS.

References

- A. Arosio and S. Garavaldi, On the mildly degenerate Kirchhoff string, Math. Methods Appl. Sci. 14 (1991) 177–195.
- [2] A. Arosio and S. Panizzi, On the well-posedness of the Kirchhoff string, Trans. Amer. Math. Soc. 348 (1996) 305–330.
- [3] E.H. de Brito, The damped elastic stretched string equation generalized: existence, uniqueness, regularity and stability, Applicable Anal. **13** (1982) 219–233.
- [4] G.F. Carrier, On the non-linear vibration problem of the elastic string, Quart. Appl. Math. 3 (1945) 157–165.
- [5] R.W. Dickey, Infinite systems of nonlinear oscillation equations with linear damping, SIAM J. Appl. Math. 19 (1970) 208–214.
- [6] Y. Ebihara, L.A. Medeiros, M.M. Miranda, Local solutions for a nonlinear degenerate hyperbolic equation, Nonlinear Anal. 10 (1986) 27–40.
- [7] G. Kirchhoff, Vorlesungen über Mechanik, Teubner, Leipzig, 1883.

- [8] M. Ghisi and M. Gobbino, Global existence and asymptotic behaviour for a mildly degenerate dissipative hyperbolic equation of Kirchhoff type, Asymptot. Anal. 40 (2004) 25–36.
- M. Ghisi and M. Gobbino, Hyperbolic-parabolic singular perturbation for mildly degenerate Kirchhoff equations: time-decay estimates, J. Differential Equations 245 (2008) 2979–3007.
- [10] R. Narasimha Nonlinear vibration of an elastic string, J. Sound Vib. 8 (1968) 134–146.
- [11] K. Ono, Global existence and decay properties of solutions for some mildly degenerate nonlinear dissipative Kirchhoff strings, Funkcial. Ekvac. 40 (1997) 255–270.
- [12] K. Ono, Global existence, decay, and blowup of solutions for some mildly degenerate nonlinear Kirchhoff strings, J. Differential Equations 137 (1997) 273–301.
- [13] K. Ono, Mildly degenerate Kirchhoff equations with damping in unbounded domain, Appl. Anal. 67 (1997) 221–232.
- [14] K. Ono, On sharp decay estimates of solutions for mildly degenerate dissipative wave equations of Kirchhoff type, Math. Methods Appl. Sci. 34 (2011) 1339–1352.
- [15] W.A. Strauss, Nonlinear wave equations, CBMS Regional Conf. Ser. in Math., Amer. Math. Soc., Providence, RI, 1989.
- [16] R. Temam, Infinite Dimensional Dynamical Systems in Mechanics and Physics, Springer-Verlag, (Applied Mathematical Sciences), Vol.68, New York, 1988.
- [17] Y. Yamada, On some quasilinear wave equations with dissipative terms, Nagoya Math. J. 87 (1982) 17–39.
- [18] Y. Yamada, Some nonlinear degenerate wave equations, Nonlinear Anal. 11 (1987) 1155–1168.
- T. Yamazaki, On local solutions of some quasilinear degenerate hyperbolic equations, Funkcial. Ekvac. 31 (1988) 439–457.

Communicated by Atsushi Yagi

K. Ono Department of Mathematical Sciences, The University of Tokushima, Tokushima 770-8502, Japan E-mail : ono@ias.tokushima-u.ac.jp